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QUESTION 1

Which two statements are true regarding the Oracle Data Pump export and import operations? (Choose two.)
A. You cannot export data from a remote database.

B. You can rename tables during an import operation.

C. You can overwrite existing dump files during an export operation.

D. You can compress the data during export but not the metadata because it is not supported.

Correct Answer: BC

QUESTION 2

You want to install an Oracle 11g database and deploy it on ASM. Your plan is to install both Oracle database and Grid
Infrastructure.

Which two are true in this scenario? (Choose two.)

A. Grid Infrastructure must be installed first

B. Both products must be installed by the same OS user

C. Each product must be installed in a different ORACLE_HOME

D. Both products must be installed by using the same ORACLE_BASE

E. Both products must be of the same version

F. Both products can share the OS group assigned to their OSDBA and OSOPER privileged groups

Correct Answer:. CF

QUESTION 3

Examine the values for the following initialization parameters:
FAST_START_MTTR_TARGET=0

LOG_CHECKPOINT_INTERVAL=0

Which two will be the implications of these values in your database? (Choose two.)
A. The SGA advisor will be disabled

B. The MTTR advisor will be disabled

C. Automatic checkpoint tuning will be disabled
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D. Checkpoint information will not be written to the alert log file

Correct Answer: BC

QUESTION 4

Examine these attributes for the profile assigned to USER1 whose password is oracle_4U. PASSWORD_REUSE_MAX
IS 5 PASSWORD_REUSE_TIME IS 10 PASSWORD_GARCE_TIME IS 15

Which two conditions must be met for USERL1 to reuse oracle_4U? (Choose two.)
A. At least 10 days must have passed since oracle_4U was last used

B. The password must have changed 5 times since oracle_4U was last used

C. At least 15 days must have passed since oracle_4U was last used

D. At least 5 days must have passed since oracle_4U was last used

E. The password must have changed 10 times since oracle_4U was last used

Correct Answer: CE

QUESTION 5

Evaluate the following code:

SALES=
(DESCRIPTION =
(ADDRESS= (PROTOCOL = tcp) (HOST=sales_server) (PORT=1521))
(CONNECT DATA= (SERVICE NAME= sales)))

Which naming method creates the above code?
A. Local naming

B. External naming

C. Directory naming

D. Easy connect naming

Correct Answer: A
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